### **SIGNATURE PAGE**

#### RFQ# F-7-2023

To the Board of County Commissioners of the County of Monmouth:

# THE UNDERSIGNED HEREBY DECLARES THAT I (WE) HAVE CAREFULLY EXAMINED THE SPECIFICATIONS. I (WE) HEREBY CERTIFY PRICES QUOTED ARE IN ACCORDANCE WITH YOUR REQUIREMENTS.

Company Name:	CONSEN FLOW Company
Preparer's Name:	Kenny Gudahl
Signature	Len Sull (PRINT)
Address:	1003 Illinois ST
	SIDNEY NE 69162
Telephone No.:	(308) 254-4720
Fax No.:	(308) 254-2419
E-Mail Address:	CONSERV Flag @ CONSERV Flag-com
	***(This should be the email where Contracts would be sent)***
Contact Person:	Kenny GudahL
FEIN:	
(Federal Employee ID)	

### **County of Monmouth REQUEST FOR BID**

RFB must be received no later than:

---- This Is Not An Order -----



September 14, 2022 10:30AM

RFB# F-7-2023

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

For Delivery to:		Various Delivery Locations. See Details Bel	low.		
Delivery Date:		01/01/2023 - 12/31/2023			
ITEM	··	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
BUIL	DINGS & GRO	JNDS (ON-CALL, AS NEEDED)			
1		OOR UNITED STATES FLAG, NYLON EIGH NO LESS THAN 9.8 OZ	5 EACH	17.89	89-45
	Packaging: MFG/Brand Product No Variances,	t: Flagzone : N43545		<u> </u>	<u> </u>
2		OOR UNITED STATES FLAG, NYLON EIGH NO LESS THAN 13.9 OZ.	20 EACH	27-89	557.80
	Packaging: MFG/Brand Product No Variances,	: Flaczone : NY46 US			s, ` '
3		OOR UNITED STATES FLAG, NYLON EIGH NO LESS THAN 1.29 LBS.	35 EACH	47-89	1676-15
	Packaging: MFG/Brand Product No Variances,	E FLACZONE NYS8US			
4		OOR NEW JERSEY FLAG, NYLON	3 EACH	17.74	53.22
	Packaging: MFG/Brand Product No Variances,	NY35NI		<b>.</b>	

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-7-2023

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
5	4' X 6' OUTDOOR NEW JERSEY FLAG, NYLON FLAG TO WEIGH NO LESS THAN 13.9 OZ.	10 EACH	41-74	417-40
	Packaging:  MFG/Brand:  Product No:  Variances, if any:		<u> </u>	<b>I</b>
6	5' X 8' OUTDOOR NEW JERSEY FLAG, NYLON	3 EACH	5-9-89	179-16
	Packaging:  MFG/Brand: Product No: Variances, if any:		L.	<u> </u>
7	3' X 5' OUTDOOR MONMOUTH COUNTY, NEW JERSEY FLAG, NYLON CUSTOM COUNTY FLAG DESIGN TO BE PROVIDED IN VECTOR ARTWORK	3 EACH	52.89	158.47
	FLAG TO WEIGH NO LESS THAN 9.8 OZ.  Packaging:  MFG/Brand:  FLACZOWE/ANNIW  Product No:  Custom 35 monety  Variances, if any:  MINIMUM OF DET (3)			
8	4' X 6' OUTDOOR MONMOUTH COUNTY, NEW JERSEY FLAG, NYLON, SINGLE-SIDE REVERSE CUSTOM COUNTY FLAG DESIGN TO BE PROVIDED IN VECTOR ARTWORK	10 EACH	64.89	1648.90
	FLAG TO WEIGH NO LESS THAN 13.9 OZ.  Packaging:  MFG/Brand:  FLag Zone  Product No:  Lus tom 46 mon Cty  Variances, if any:  Minimum Order (3)			

### **REQUEST FOR BID**

--- This Is Not An Order ----



RFB# F-7-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
9	5' X 8' OUTDOOR MONMOUTH COUNTY, NEW JERSEY FLAG, NYLON  CUSTOM COUNTY FLAG DESIGN TO BE PROVIDED IN VECTOR ARTWORK	3 EACH	85.89	257.67
	Product No:  Variances, if any:  PILACTONE  LUSTON 58 MON EXY  MINIMUM OFDER (3)		L	
10	3' X 5' OUTDOOR POW FLAG, NYLON FLAG TO WEIGH NO LESS THAN 9.8 OZ.	10 EACH	28-74	287.40
	Packaging:  MFG/Brand:  Product No:  Variances, if any:		<u> </u>	L
11	4' X 6' OUTDOOR POW FLAG, NYLON	20 EACH	39.74	794.80
	Packaging:  MFG/Brand:  Product No:  Variances, if any:		<u> </u>	
12	5' X 8' OUTDOOR POW FLAG, NYLON	3 EACH	63.74	191.22
	FLAG TO WEIGH NO LESS THAN 1.29 LBS.		65.	(%)
	Packaging:  MFG/Brand:  Product No:  Variances, if any:			
13	4' X 6' INDOOR UNITED STATES FLAG, NYLON FLAG TO WEIGH NO LESS THAN 13.9 OZ.	15 EACH	82.89	1243.35

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-7-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM	# DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging:  MFG/Brand:  Product No:  Variances, if any:			,
14	3' X 5' INDOOR UNITED STATES FLAG, NYLON, EMBROIDERED STARS, FLANNEL LINED POLE HEMMING WITH GOLD FRINGE, VELCRO TAB FLAG TO WEIGH NO LESS THAN 9.8 OZ.	3 EACH	54.89	164.67
<u>.</u>	Packaging:  MFG/Brand:  Product No:  Variances, if any:		L	
15	4' X 6' INDOOR NEW JERSEY FLAG, NYLON	10 EACH	68.89	688.9D
	Packaging:  MFG/Brand:  Product No:  Variances, if any:		U	
16	3' X 5' INDOOR NEW JERSEY FLAG, NYLON FLAG TO WEIGH NO LESS THAN 9.8 OZ.	3 EACH	51-89	155,67
	Pa ckaging:  MFG/Brand:  Product No:  Variances, if any:			
17	4' X 6' INDOOR MONMOUTH COUNTY, NEW JERSEY FLAG, NYLON	10 EACH	95,89	a0
	CUSTOM COUNTY FLAG DESIGN TO BE PROVIDED IN VECTOR ARTWORK		95,0	958.
	FLAG TO WEIGH NO LESS THAN 13.9 OZ.  Packaging: MFG/Brand: Product No: Variances, if any:			

#### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-7-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
18	3' X 5' INDOOR MONMOUTH COUNTY, NEW JERSEY FLAG, NYLON, WITH POLE HEM, TABS AND GOLD FRINGE TRIM  CUSTOM COUNTY FLAG DESIGN TO BE PROVIDED IN VECTOR ARTWORK  FLAG TO WEIGH NO LESS THAN 9.8 OZ.	3 EACH	76-89	230,67
	Packaging:  MFG/Brand:  FLG Zove  Product No:  Custom CRW 35 Manchy  Variances, if any:	- - -	<b>L</b>	
19	4' X 6' INDOOR MODIFIED NYLON POW MIA FLAG, DOUBLE EMBLEM, POLE HEM, TABS AND WHITE FRINGE	5 EACH	74.89	374.45
	Packaging:  MFG/Brand:  Product No:  Variances, if any:	• - -	L,	<u>L</u>
20	4' X 6' OUTDOOR KILLED IN ACTION (KIA) FLAG, NYLON BACKGROUND COLOR - RED, EMBLEM AND LETTERING COLOR - BLACK AMERICA REMEMBERS	5 EACH	49.74	248,70
	FLAG TO WEIGH NO LESS THAN 13.9 OZ.  Packaging:  MFG/Brand:  Product No:  Variances, if any:			
21	3' X 5' OUTDOOR HONOR AND REMEMBER FLAG, NYLON FLAG TO WEIGH NO LESS THAN 9.8 OZ.	5 EACH	41.74	20810
	Packaging:  MFG/Brand:  Product No:  Variances, if any:			

# County of Monmouth REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-7-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
22	4' X 6' INDOOR NYLON ARMY FLAG WITH POLE HEM, TABS AND FRINGE	5 EACH	72.74	363.70
	FLAG TO WEIGH NO LESS THAN 13.9 OZ.  Packaging:  MFG/Brand:  Product No:  Variances, if any:	• • •		
23	4' X 6' INDOOR NYLON NAVY FLAG WITH POLE HEM, TABS AND FRINGE	5 EACH	72-74	363-70
	FLAG TO WEIGH NO LESS THAN 13.9 OZ.  Packaging:  MFG/Brand:  Product No:  Variances, if any:			
24	4' X 6' INDOOR NYLON AIR FORCE FLAG WITH POLE HEM, TABS AND FRINGE FLAG TO WEIGH NO LESS THAN 13.9 OZ.	5 EACH	72.74	363.70
	Packaging:  MFG/Brand:  Product No:  Variances, if any:			
25	4' X 6' INDOOR NYLON MARINE FLAG WITH POLE HEM, TABS AND FRINGE	5 EACH	12.74	363.70
	FLAG TO WEIGH NO LESS THAN 13.9 OZ.  Packaging:  MFG/Brand:  Product No:  Variances, if any:	ı		
26	4' X 6' INDOOR NYLON COAST GUARD FLAG WITH POLE HEM, TABS AND FRINGE	5 EACH	72.74	363.70
	FLAG TO WEIGH NO LESS THAN 13.9 OZ.			

# County of Monmouth REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-7-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

			<del></del>	
ITEM		QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any:	- - -		
27	20" X 8' NYLON PULLDOWN, 50 STARS WITH RED AND WHITE STRIPES	10 EACH	2474	247.40
	Packaging:  MFG/Brand:  Product No:  Variances, if any:	- - -		
28	3' X 6' NYLON FAN BUNTING WITHOUT STARS	10 EACH	41-74	417.40
	Packaging:  MFG/Brand:  Product No:  Variances, if any:	- - -		
29	4' X 8' NYLON FAN BUNTING WITHOUT STARS	10 EACH	63.14	537,40
	Packaging:  MFG/Brand:  Product No:  Variances, if any:	•		
30	18' X 36" SEWN STRIPES APPLIQUED STARS PLEATED FAN, POLY-COTTON FAN BUNTING	10 EACH	12-74	127.40
	Packaging:  MFG/Brand:  Product No:  Variances, if any:			
31	ANNIN (#697-461) FLOOR STANDS, LIBERTY, GOLD FINISH	10 EACH	42-89	428,90

### **REQUEST FOR BID**

--- This Is Not An Order ----



RFB# F-7-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM	# DESCRIPTION	QUANTITY/UNIT	UNIT PRICE TOTAL PRICE
	Packaging:  MFG/Brand:  Product No:  Variances, if any:	-	UNIT PRICE TOTAL PRICE
32	SPEAR FLAG TOP, BRASS COLOR	5 EACH	16.89 84.45
	Packaging:  MFG/Brand:  Plac Zon e  Product No:  Variances, if any:	- - -	
33	EAGLE FLAG TOP, BRASS COLOR	5 EACH	23.89 119.45
	Packaging:  MFG/Brand:  Product No:  Variances, if any:	  	
34	BRASS SWIVEL SNAP HOOK	5 EACH	5.74 28.70
	Packaging:  MFG/Brand:  Product No:  Variances, if any:	- - -	
35	CHROME SWIVEL SNAP HOOK	30 EACH	12-74 382.20
	Packaging:  MFG/Brand:  Product No:  Variances, if any:	- - -	
36	FLAG POLE, 9 FT. LONG, 1-1/4" DIAMETER, DARK OAK, 2 PIECE BRASS COUPLING FOR 4' X 6' INDOOR FLAG	3 EACH	89-89 269.67

#### **REQUEST FOR BID**

ITEM#

---- This Is Not An Order ----

DESCRIPTION



RFB# F-7-2023

**TOTAL PRICE** 

Monmouth County Purchasing
Hall of Records, 3rd Floor
1 East Main Street
Freehold, NJ 07728
(732) 431-7370 Fax (732) 431-7379

**UNIT PRICE** 

Contact: Sophia Amorski

QUANTITY/UNIT

732-431-7370 x7381

	Packaging: — MFG/Brand: — Product No: — Variances, if any:	Flacton 8 5610491			
37	FLAG SPREADER,	FOR INDOOR FLAG	10 EACH	32-74	327,40
	Packaging: — MFG/Brand: — Product No: — Variances, if any:	Flagzone 6030010			
38	EASYKLIP #25202 150 LB. CAPACITY 25 PER PACKAGE		10 PKG(S)	56.89	568,90
VETE	Packaging: — MFG/Brand: — Product No: — Variances, if any:	FLGZONE ENSYKLIA (TO BE DELIVERED IN ONE SHIPMENT P	ER ITEM SPECIFICATIONN		
	and Marie V		E.T.I.E.W. G., ESTEIGN LOIV		14,944.13
					:
					·

69,444.13

#### **REQUEST FOR BID**

--- This Is Not An Order ----



**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

### FURNISH AND DELIVER FLAGS FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2023 THROUGH DECEMBER 31, 2023 (MONMOUTH COUNTY CO-OP)

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
39	AMERICAN FLAG - 12" X 18" U.S. FLAG ON 3/8" STAFF:  (50) STAR UNITED STATES COTTON FLAG NOT LESS THAN 12" X 18" FINISHED SIZE ON 32 " OVERALL STAFF STAFF TO BE NO LESS THAN 3/8 " THICK. PRINTED ON SOFT COTTON BUNTING, ALL EDGES FINISHED.	50,000 EACH	1,09	54,500.00
	COLORS MUST BE FAST TO SUN AND RAIN. FLAG TO BE STAPLED-TACKED TO STAFF ON THREE PLACES. THREAD OF COTTON TO BE AT LEAST 112 PER SQ. INCH.			
	DOWEL AND GOLD FINIAL.			
	STAFF IS TO BE UNPAINTED WOOD ONLY.			
	FOR THIS ITEM ONLY, ORDER WILL BE MADE IN ONE LUMP SUM AND MUST BE DELIVERED BY: MARCH 9, 2023			
	PRODUCT SAMPLE REQUIRED FOR THIS ITEM Packaging: 144			
	MFG/Brand: Fluczon e Product No: 105 6 274 Variances, if any:	•		

\*\*\*\*SEE ATTACHED ARTWORK FOR THE CUSTOM MONMOUTH COUNTY NEW JERSEY FLAG

\*\*\*\*GROUP #1 ITEMS ARE ON-CALL FOR JANUARY 1, 2023 THROUGH DECEMBER 31, 2023 - PRODUCT SAMPLES ARE NOT REQUIRED FOR THIS GROUP

\*\*\*\*GROUP #2 ITEM IS TO BE DELIVERED AS A LUMP SUM NO LATER THAN MARCH 9, 2023 - PRODUCT SAMPLE FLAG IS REQUIRED FOR THIS GROUP ONLY

#### **Various Delivery Locations:**

**Buildings & Grounds/Trades** Special Services Complex 300 Halls Mill Road Freehold, NJ 07728 Karen Retzer 732-431-7360 x2136

### **REQUEST FOR BID**

---- This Is Not An Order ----



RFB# F-7-2023

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

### FURNISH AND DELIVER FLAGS FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2023 THROUGH DECEMBER 31, 2023 (MONMOUTH **COUNTY CO-OP)**

ITEM#

DESCRIPTION

QUANTITY/UNIT

**UNIT PRICE** 

**TOTAL PRICE** 

**Buildings & Grounds/Trades** Special Services Complex 300 Halls Mill Road Freehold, NJ 07728 Karen Retzer 732-431-7360 x2136